MONTEROSSO 3

BLACK ANGELS 6

RISULTATO SET TOTALE

SQUADRA A SQUADRA X 1 2 3 5 SET PUNTI |PARTITE
A XITA| XA X|AI XA X A XA X|A|X
A BELLUCO X |DIMAGGIO 6 |11/12/10| 3 |11 3 | 11 11324430 | 1
B |[CANELLA Y |CAPELLUA 8 11|11, 8 |7 |11/11|, 9 (11| 6 | 3 | 2 [48(45/ 1| O
DP|GUARIENTO-CANELL |DP|DIMAGGIO-CAPELLUA |12 10| 9 |11 |11 6 |11 | 1 3 114328 1 0
C |GUARIENTO Z BIGLIOTTO 2 (11,7 [11] 3 [11 0 3|12/33|0 | 1
B |[CANELLA X |CAPELLUA 7 |11|/11] 8 |11 4 | 8 (11| 7 [11| 2 | 3 |44 |45| 0 | 1
A BELLUCO Z |BIGLIOTTO 8 |11/ 6 |11 8 |11 0|3(22/33/ 01
C |GUARIENTO Y |CAPELLUA 5111 4 |11 6 | 11 0|3(15/33/ 0 |1
B |[CANELLA Z |BIGLIOTTO 13|11 11| 5 |11 3 3/ 01(3/|19(1]0
C \GUARIENTO X |DIMAGGIO 3|11 7 117 |11 0|3 (17|33 0 |1

A Y 00
TOTALI| 12 | 21 |260/312| 3 | 6




